EXEYHES

B FEp31E4H1H8
E 2438318

HEBIHEABERKBAERS (Bfz:M)
BERHE LEEREWN|FIEEREB)| #EWR)-B)
L EEEIER 416,485,725 | 408,039,230 8,446,495
EANEUEEEINE 217,244,606 | 219,928,893 -2,684,287
Iy | R BRI A 17,065,550 17,844,900 779,350
ﬂ 2% BEEEUY—EREEZZINE 71,406,827 72,551,687 -1,144,860
| Zrpit & IR 1 17,775,988 25,151,391 7,375,403
E HEREEICH T AMATIEETEINE 22,677 8,912 13,765
A H—EREEIUREET (1) 740,001,373 | 743,525,013 -3,523,640
& ANGE 516,509,888 | 514,873,699 1,636,189
)] EXE 116,532,820 | 118,045,032 -1,512,212
i EKE 61,384,279 59,885,415 1,498,864
B E My EEEER 17,314,658 18,037,788 -723,130
O | A |BilEMNE 73,634,506 74,023,577 -389,071
=i EEHBEEHRTEIL S INAAZE -27,931,708 | -26,242,744 -1,688,964
HEREEICHTIMAIIESTEER 22,677 8,912 13,765
S—EXRFENEHE (2) 757,467,120 | 758,631,679 -1,164,559
S—EXEEEREELZE(B3)=1)—(2) -17,465,747 | -15,106,666 -2,359,081
H EPNE RIS EUEAESS 0 53,250 -53,250
e | 4N | ZEF] B AR BN 3,258 3,552 -294
Z | I [Z DD H—E X EB SN 4,731,976 10,326,009 -5,594,033
= Y —E REENSHURERET (4) 4,735,234 10,382,811 5,647,577
Aol g [IBRIR 7,745,736 6,380,829 1,364,907
i; £ ZDDHY—E XEENSE B 2,662,451 2,979,242 -316,791
P H—EREENERE(5) 10,408,187 9,360,071 1,048,116
B | H—EXFESNEREZ(6)=(4)—(5) -5,672,953 1,022,740 -6,695,693
BRERRELZE(7)=(3)+(6) -23,138,700 [ -14,083,926 -9,054,774
MER 2 EE MBI 15,074,000 0 15,074,000
UR | HL S X o Ef A IR 28,723,803 28,088,000 635,803
| & | —EAR S BBEASING 65,125,289 54,988,898 10,136,391
Al YHRIUREEET (8) 108,923,092 83,076,898 25,846,194
15 EE & ETHE - NHiE 0 0 0
i 7 EEREFEENEILEIEE 14,728,000 0 14,728,000
D £ WaXoEEAEER 28,723,803 28,088,000 635,803
&R H—EXARSEEAEEH 65,125,289 54,988,898 10,136,391
HRlERE(9) 108,577,092 83,076,904 25,500,188
HE R EZE(10) =(8) —(9) 346,000 0 346,000
LEEEEREE(Q1D=(7)+010) -22,792,700 [ -14,083,926 —8,708,774
ﬁ ATEiE MR EIBRESE (12) 891,472,875 | 905,556,801 -14,083,926
Z [HERGHEEEREZE(13)=>11)+(12) 868,680,175 | 891,472,875 -22,792,700
iig HEASEAREE(14) 0 0 0
B | ZDMDIEISENERZE(15) 0 0 0
z FotomuaamIE(6) 0 0 0
~ Sk Ba 3=t % —
o [ RARAEMRER(17)=(13)+(14) 868,680,175 | 891,472,875 -22,792,700
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